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I ndian Army Technical sample paper

COMMON ENTRANCE EXAMINATION FOR SOLDIER TRADESMAN
TIME-1HR. | QUESTIONS -50

ALL QUESTIONS ARE COMPULSORY AND CARRY EQUAL MARKS

01. The Salal project is on the River 10. Bhakra Nangal Dam is built on
Ferra ufegie fea I R #? which river
a. Chenab / s m;wmuﬁaﬁﬁmﬂﬁwm
: 182
S gj;'ejlf% a. Ravi/xfd
: Al b. Sutluj / gdage
d. Jhelum / JaH C. Chenajlb/ﬁFn'q'
d. Beas/a™
02. The Panama Canal connects
AT TR A § O [P sitsdt 22 06. Which month is named after the
a. 'IH'EE(:H I\gl%dwlt%;aggr;rrsr;a and the Red Sea / Roman God of war?
b. The Mediterranean Sea and Caspian Sea / Tﬁﬁhnﬁ?mm TR el
YA AR 3R BT IR TG T-ITT
c. The Red Sea with the Indian Ocean /&g a. April / 3
TR & 9T A1 9K b. May /7%
d. The Atlantic Ocean and the Pacific c. March/wrd
Ocean / 3cdifc® TEMIR 3R U=Iid HERITR d. August / 3

03. For which one of the following process is the 07 Who is the author of the book titled

capillary action not the main causes ‘An Idealist View of Life’? .
g & | 98 S99 ufear & <) R frar o1 ‘An Idealist View of Life’ TH® J&I® M T &
TS HTROT 1L 82 e ferdto
a. Absorption of ink / TG} &1 a=NYUT a. Dr. S Radhakrishnan / ST. G0 Y@=
b. Rising of underground water / HfPrTd ar=it b. Dr. AP J Abdul Kalam / ST LS. 3fegel
c. Water drop falling on cotton cloth / art c. Vivekanand / fadwria

§g gl U W A d. R K Narayan / 3R & TR0

d.  Water reaching in plants from the root to the
leaves / U &1 Uielf § ST W ufvgi aw ugam 08. Duleep Trophy is associated with
gty grwt fu | 3 fra @a @ awfia 32
a. Tennis/<Ha
b. Cricket / fohahe
c. Football / ppesia
d. Hockey / gia!
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11.

12.
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Sariska Sanctuary is located in

which state

gﬁvﬂ FHIRYY g ° A f5a oy A g
?

a. Assam / 3H

b. Kerala/®3@

c. Gujarat / SRId
d. Rajasthan / ISR

Bhakra Nangal Dam is built on

which river

YRAST i 919 5 # 9§ 5 =<t W= s9man
T 82

a. Ravi/fg

b. Sutluj / gagsl
c. Chenab / A

d. Beas/am™

The decomposition of acetaldehyde is
a reaction of the order

T eSS & Sruucd &1 srfufhar fAg &
I frasa A g 22

a. 10

b. 1.5

c. 20

d 25

A large watermelon weighs 20kg with
96% of its weight being water. It is
allowed to stand in the sun and some

of the water evaporates so that now only
95% of its weight is water. Its reduced
weight will be

et TP aRYS BT UR 96% U &A1Y 20
frel 8, 3R avgel & Yu A T@T Srar g ot
RS BT HS U 3 1T 3 3R 3T aRage
& T BT YR 95% @, A GRSl PT Y T
gMUR FE dd wmgrm?

a. 18Kkg

b. 17 kg
c. 16.5kg
d. 16 kg
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13. If the petrol prices are reduced by 10%,

14.

15.

16.
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find by how much a user must
increase the consumption of petrol so
as not to decrease his expenditure

on petrol?

gfe Agia &) SAdl A 209 HHI 3T &, @
TP JUUITIT &I Ugid &t Gud fa-i dgrt
TSt foTe &Y S9% Ueid W g1 arar wd
ST B ¥g?

a. 100/9%

b. 13%

c. 21/2%

d. 14%

A person borrows Rs.8500 at 9%
simple interest. How much amount

will he pay at the end 5/2 year?

gfe Bis AfaT 9% & ATYRUT ST TR 8500
FUY IYR AT 8, ot 3 Ul B 52 A &
TFRER & fpa =ug ¢ w8

a. Rs11412.50

b. Rs10412.50

c. Rs12412.50

d. Rs13412.50

At what rate of simple interest, a
certain sum will be doubled in 15
years?

4 Il | fhae % R UR D15 YR ATl
SNAT §1 SIR?

a. 4%

b. 5%

c. 6%

d 7%

If 20 men can complete a work in 180
days, how many men will be required to
complete the work in 40 days

gfe et w18 &1 B | R0 et 3¢o faa
BTG A 8, a1 e smeHt 39 =10 &) ¥o
& o o | e B2

a. 80

b. 100

c. 90
d. 70
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17. A shopkeeper sells his goods at 10%

18.

19

discount on the marked price. What
price should he mark on an article that
costs him Rs 900 to gain 10% profit?
gfe B3 PSR U TTHH Bi 0% Bl G
TR AT B, Y ST I W W a1 gey
BIYHAT IS, Forad Ft ST Qoo EUTH
0% ATH §I?

a. Rs 1050

b. Rs1100

c. Rs 1150

d. Rs 1200

Two articles are sold for Rs 396.00
each. On one, the seller gains 10%

and on other he loses 10%. Find his
gain or loss percent

gfe ®1g e o avgsil H gar g, P |
¥ U I Y4 396 TUT &, 3R dl aferd
gl a%g UR 20% ATY UTAT &, 3N% gost avg
T 005 P BT Biell 8, ) ITHT a1 3R 71
gf=Ta T g

a. 1% loss /1% g1iA

b. 1% profit/ 1% T4

C. 2% profit/2% <4

d. No loss; No profit /=181 = &y

. Ram’s son’s age is 1/3 of Rama's wife
age. Ram’s wife’s age is 4/5 of Ram’s
age and Ram’s age is 3/4 of Ram’s
Father’s age. Find the age of the son
of Ram, if Ram’s father is 50 years old?
gfe 379 B} Uell B} AT ITH S T B A |/
23 ©, 3R 7MW B velt F} g W Pt g A
¥/4 8 3R 3P fUar Ft g A IuPT 3y
3% g, ae P U A g uo af g, AWM &
A BT 3T 1 g2
a. 6years
b. 10 years
c. 8years
d. 11 years
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If b/a = 0.25, then what is the value

of 2a-b/2a+b + 2/9
gfe bla=0.34 &, &Y 2a-b/2a+b + 2/9 &1 A g
T | T F?

a. 2/4

b. 2

c. 1

d. 4/5

Two numbers are 20% and 25% lower
than the third number. By how much
percentage is the second number lower
than the first?

gfe F1$ 3 T st T=I | 20% 3R
25% BT § ) gusl A= ugell T= @
fora= uf=ra o1t g

a. 5%

b. 10%

c. 17/2%

d. 25/4%

A number when divided by 5 leaves the
remainder 3. What is the remainder
when the square of the same number

is divided by 5?

et Hen # 4 | YT 3 R AuBd 3 Fad
8, O ATEA F1d B 3R I B &
FIiga &Y « & faurfora fean e

~ O w o

A boat travels with a speed of 13 km/h
in still water. If the speed of the stream
is 4km/h, then the time taken by the
travel 68 km downstream is

gfe HIS 19 T gu Ul 7 13 fedie st aifar
9 gadt g, afe urn 3t ufer 4 fedire @, v ema
o1 68 fHtft 7 ®= A fvamn wwa @

a. 4h
b. 6h
c. 3h
d. 8h
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A boy throws three coins. The
probability of one head turning

up is

gfe w13 go i Ried Soaar g, dt gs oM
Pt HUTGAT T R

a. 1/2

b. 1/3

c. 1/8
d. 7/8

From a group of three boys and three
girls, one boy and one girl are to be
selected for a play. In how many
possible ways can the selection

be made

Pl e gu i 9 s iR fa wsfrar g,
R TP TSHT 3R TH asd! fodl T &
fg g3 o B, Y 3= b i A g
TPl 82

a. 3
b. 6
c. .9
d 12

The coefficients of linear and volume
expansions of a material are a

and y respectively. Then y is equal to
TS QAP dd BT a1 9 g BT IUNS o
MR v % Gl Y e W ﬁ"'ﬂ’

ad o

b. 2«
c. 3a
d. al3

The critical angle for a medium is 60°.
The refractive index of the medium
will be

ot wrem & e STt wifas Hvr60° 8,
ot ST HIHHW BT SUad-id F § o F1
g

V3

2

313
V3
V6

e o oo
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Number of image of an object kept
between two mirrors inclined at angle
72° would be

T g St &1 34 Ui & §iF 72° F BV W

g g8 2, O 39 axg & ram wfafeme s
a. Two

b. Three

c. Six

d. five

The velocity of thermal radiation
in vacuum is
fafa # ot fafeor &1 au feaam gar 22

a. equal to that of light / TT=T & sRTsR

b. less than that of light / J&T=1 &t ga o
G

c. greater than that of light / TeT=1 &1
SRR ECIRED

d. equal to that of sound / &f & SRTeR

White light is composed of

g A= fra T @ o+t g1t 87
a. all colors / @4t &

b. red, blue, green / @rd, idl, 8%

c. no color / &g {18t
d. None of the above / 378 I &5 i 78f

Order of wavelength for visible region
is

TRy & ® 3w 3 &t wifa o o 9 fpat
et 87

a. 420 nm - 900 nm / 420 =/t - 900 S/
b. 360 nm - 720 nm / 360 =/t - 720 A/t
c. 100 nm - 2000 nm / 100 =/Ht - 2000 =/
d. None of the above / 378 I &3 off Tt

The air bubble produced in the bottom

of pond

AT 1 g W 91 91d gaga & a1y

u 3 17

a. comes out at the level of water of
pond / dTdTe & Ut & iR UR STER AT §

b. remains in the middle of water / ot &
EIEE RGO

c. remains at the bottom of pond / drerd
& I WRIEA 8

d. None of the above / 578 I ®I5 *ft 78t
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35.

36.
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The correct value of 0°C on the

kelvin scale is

Ffed TUM W 0° F. BT JEI AIF T gRM?
273.15 K

272.85 K

273 K

None of these

oo o

The equivalence of two systems in

thermal equilibrium is represented by
the property of
Suita AT ® gt g e ot

mwmﬁﬁwﬁwﬁhaﬁwﬁ%v
Heat / 7Tt

Energy / &l

temperature / dTGAE

Specific heat / fafry dm

o0 o

A body does not emit heat energy at
oot uerd # o ¥ 9 5w ao R it
Sl A8l fAperdt?

a 1K

b. 0K

c. 3K

d 23k

Total internal reflection occurs when
angle of incidence is
qut Sfiafke RTad= & T smuasT S &1
3'11117
greater than critical angle / sifdd ®ior
¥ e

b " |ess than critical angle / ifte BT Y
hyH

¢ polarizing angle / R0 HI0T
All of the above / SR & gt
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Critical angle is 45°, the refractive
index is

gfe wifa® BT 45° B, A SHPT SUTAID
e o & wa ghme

a.
b.

C.

“h S G

d. None of these

A body is just floating in liquid (density
of liquid and body is same). If the body
is slightly pressed and released, it will

gfe HIS aeg ot A AR TE 7 (U iR avg

P U-Ted IRISR 8), A ST ag 1 R A

T} Bl fear o af w1 g

a. sink to the bottom / a a¥g = gaft

b. start oscillating / 9% & &u- giift
comes back to the same position

c.
slowly / amog 391 fRyfa & R smaett

d. come back to the same position

immediately/ q¥d &1 Rufd # ara smaeht
An isolated magnetic pole
wqu Ya g

is a fictitious entity/ FTeU® a%] §
b. is made up of a ferromagnetic

material/ T8 THT UgTd J 941 8l §

c. is made up of soft iron only / §argA
EIASEREIE

d. is made up of steel only/ %aa Ka ¥
SIATE

Sure test of magnetism is
TP BT T YU T 82
repulsion / gfdesor
attraction / 3fT&SoT
normal / |IYRTI

None of these / 378 ¥ &S Tal

o o T @
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44,

45.
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Scale of atomic mass is

e 9 3 W YR ST aHe Fe A | w e
2

a. C-14

b. C-13

c. C-12

d. All of these

Chlorine occurs in nature in the form
of two isotopes with atomic mass 35
and 37 in the ratio of 3 : 1 respectively.
The average atomic mass of chlorine is
FARIA & & FHRITNS ST IR YR
U 34 STV B3I P U AR,
@ TN F TR YR &7 fea fFa & J
FITEI?

a. 38:5

b. 35:5

c. 36:5

d. None of these

The number of electrons and neutrons
of an element is 18 and 20 respectively.
Its mass number is

gfe fdt o # saae™ SR el &1 Y=
U 3¢ 3R R0 &, &Y S WA UR F4T

gl

a. 12

b. 13

c. 37

d. 38

What will be the mass of one 12C atom
in gram

TS 12C URHTY] &1 SHAT, UTH | fha-r
gRm?

a. 10.5855 x1071°

b. 1.9927 x10~1°

c. 19927 x10~23

d. None of these

Inert gas has been added to the
following equilibrium system at
constant volume

S0,(9)+ 1/12 05(9)= S03(9)
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To which direction will the equilibrium
shift

gfe fBdt aifspa 9 FY s02(g)+ 1/2 02(g)s
SO3(g) ATATIRIT YUITelt § FHE 3maad A
ST ST @, o1 SH ATRTawIT yurelt i
fo=m o wmeaft?

a. Forward / 3

b. Backward / 4%

c. No effect / @IS gHTa FgY

d. Unpredictable / 3o

For the reaction:
2NH3%5 N(9)+ 3H(9)
The units of Kp will be
& it srftifran, 2NH; 5
T kp B e FTERIT 2.
a. Atm

N3(9)+ 3H,(9),

Cc. atm
d. atm

When H, and I, are mixed and

equilibrium is attained then

wiq H, 3R I, aramawyt § fied 8, ot @

EﬁT%?
amount of HI formed is equal to the
amount of H, dissociated/ fo/g A=m &
H, fagfed grT I AR H HI a1

b. HI dissociation stops/ HI &1 fdgc ¥&
SR

c. the reaction stops completely/ 3ifferar
quid: T S

d. None of the above/ 3R | ®I$ T&f

The rate of forward reaction is two
times that of the reverse reaction at
a given temperature and identical
concentration, K equilibrium is

gfe f3u U aruw iR U Jigur iR
PIs rad stfuferar, Iepwor sifufear &
SN B dt K 1 arEmaT?

a. 05

b. 1.0

c. 15

d. 2.0
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49. What is the value of pure water in PH 50. The term PVC used in the plastic
industry stands for?

scale?

PH 30T TR Y[ Ut &1 |14 3 & | famn e A9 pvc Wi §swl | fpa wid
garg? SUANT Bt AT B2

a. 1.0 a. polyvinyl chloride / Ticiifaad &IRTSS

polyvinyl carbonate / TieiifaTad Hrai-c

b. 1.5 b.
c. 7.0 c. - phosphor vanadiu chloride / Be®HR
d. 25
d. phosphavinyl chloride / BI®IfGRaA
Answer key

1.(a) v 2. (d) v 3. (b) v 4. (a) v 5. (b) v 6.(c) v 7. (a) v 8. (b) v 9. (d) v 10. (b)  11. (d)
12. (d) v 13. (¢) v 14. (d) v 15. (c) V16. (c) v 17. (a) v 18. (a) v 19. (b) v 20. (c) v 21. (d) v/
22.(d)  23. (a) v 24. (d) v 25. (c) v 26. () v 27. (b) v 28. (d) v 29. (a) v 30. (a) v/ 31. (b)
32. (a) v/ 33. (a)  34. (b) v 35. (b) v 36. (a) v 37. (b) v 38. (a) v 39. (a) v 40. (a) v 41. (c) v

42. (b) v 43. (d) v 44. (c) v 45. (c) v 46. (d) v 47. (d) v 48. (d) v 49. (c) ¥ 50. () v
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